
1. Select the correct mirror image of the given combination

when the mirror is placed at MN as shown.

दिए गए सयंोजन के सही िर्पण प्रदिदबंब का चयन कीदजए जब िर्पण को

MN र्र रखा जािा है, जैसा दक दिखाया गया है।



Q.1 Arrange the following words as per order in the

English dictionary.

दनम्नदिदखि शब्िों को अंगे्रजी शब्िकोश में दिए गए क्रम के

अनुसार दिखें

1. REPIECE

2. REPEAL

3. REPLACE

4. REPOINT

5. REPAIR

A 4, 3, 1, 2, 5 B 5, 2, 1, 3, 4

C 5, 2, 1, 4, 3 D 2, 1, 3, 4, 5



Q.2 Directions: In question, select the related word/letters/number

from the given alternatives.

दनिेश : प्रश्न संख्या, में दिए गए दिकल्र्ों में से सम्बदधिि शब्ि/अक्षरों/संख्या को

चुदनए।

175 : 13 : : 108 : ?

A 9 B 6

C 7 D 8



Q.3 If TYPEWRITER is written as YGRAVPCRGP and REGISTERED is

written as UKIGTBCPCR in the same code CONVENTION is coded as:

यदि TYPEWRITER को YGRAVPCRGP दिखा जािा है, और REGISTERED को

UKIGTBCPCR दिखा जािा है, िो उसी कोड मे CONVENTION को दिखा जाएगा

(a) GXPQELMFRL (b) GYPQELMGRL

(c) GXPQELMGRL (d) GXPRELMGRL



Q.4 There are 17 girls in a row. The position of the girl at the

middle is 9th from the beginning. What will be the position of the

girl at the middle from the end?

एक रं्दि में 17 िड़दकयााँ हैं। िह िड़की जो मध्‍य में है उसका स्‍थान प्रारंभ 9 िां

है। िह िड़की जो मध्‍य में है, उसका स्‍थान अंि से क्‍या होगा?

A) 7 िां B) 9 िां

C) 8 िां D) 10 िां



Q.5 A square of paper has been folded and punched as shown in the 

following series of figures. How will it appear when opened? 

कागज‍की‍एक‍िगापकार‍र्धना‍मोड़कर, नीचे‍प्रिदशपि‍आकृदियों‍के‍अनुसार‍छेिा‍

गया‍है।‍िह‍खोिने‍र्र‍कैसा‍दिखेगा?



Q.6 कथन:/ Statements :

सभी ट्रामें प्रामें हैं।/ All trams are prams.

कोर्प प्राम सिारी नहीं िे जा सकिी।/ No pram can carry passengers.

दनष्कर्प:/ Conclusions :

I. कोर्प ट्राम सिारी नहीं िे जा सकिी।/ No tram can carry passengers.

II. कुछ ट्रामें सिारी नहीं िे जा सकिी।/ Some trams cannot carry passengers.

A केिि दनष्कर्प I दनकििा है/ Only conclusion I follows

B केिि दनष्कर्प II दनकििा है/ Only conclusion II follows

C दनष्कर्प I और II दनकििे हैं/ Both the conclusions I and II follow

D न‍िो‍दनष्कर्प‍I और‍न‍ही‍II दनकििा‍है/ Either conclusion I or II 



Q.7 In a row of people Manu is 7th from bottom end of row. Shrey is 10

ranks above Manu. If Shrey is 8th from top end, then how many people

are there in this row?

िोगो की एक रं्दि में मनु नीचे के छोर से 7िे स्थान र्र है। शे्रय, मनु से 10 स्थान ऊर्र

है। यदि शे्रय ऊर्र के छोर से 8िे स्थान र्र है, िो र्स रं्दि में दकिने िोग है?

A) 25 B) 26

C) 24 D) 23



Q.8 In the following question, select the related letters / number

from the given alternatives

दनम्नदिदखि प्रश्न में दिए गये दिकल्र्ों में से संबंदिि अक्षर/संख्या को चुदनए।.

FEAR : 900 : : ACE : ?

(a) 139 (b) 64

(c) 81 (d) 600



Q.9 Three positions of a cube are shown below. What will come

opposite to face containing ‘N’?

नीचे एक घन की िीन अिस्थाएाँ िशापयी गयी है| अंक ‘N’ के दिर्रीि फिक

र्र कौन सा अंकआयेगा?

A) P B) Q

C) S D) R



Q.10 Medha moves towards South-East for 7 km, then moves

towards West for 14 km. Then she moves towards North-West for

7 km and finally moves a distance of 4 km East and stands there.

How far is the starting point from where she stands now ?

मेि िदक्षण-रू्िप की ओर 7 दकमी चिी, दफर र्दिम की ओर 14 दकमी चिी।

दफर िह उत्तर-र्दिम की ओर मुड़कर 7 दकमी चिी और अधि में रू्िप की ओर 4

दकमी की िूरी िय की और िहााँ खड़ी हो गर्प। अब िह जहााँ खड़ी है िहााँ से

प्रारदम्भक स्थान दकिना िूर है ?

A 10 km B 3 km

C 4 km D 7 km



Q.11 Poonam told Akshay that "Yesterday she defeated Akshay's only

sister's daughter Sneha in a school level Taekwondo competition." How

is Akshay related to Sneha?

रू्नम, अक्षय से कहिी है दक, "कि उसने अक्षय की र्किौिी बहन की रु्त्री स्नेहा को

दिद्यािय स्िर के िायक्िोंडो प्रदियोदगिा में हराया था।" अक्षय, स्नेहा से दकस प्रकार

संबंदिि है?

A) िािा B) दर्िा

C) ममेंरा भाई D) मामा



Q.12 How many squares are there in the figure given below? 

िी‍गई‍आकदिप‍में‍दकिने‍िगप‍है

A 5 B 6

C 7 D 8



Q.13 DIRECTIONS: Select the answer figure in which the questions figure is 

embedded.

दनिेश: िह‍उत्‍िर‍आकृदि‍ज्ञाि‍कीदजए‍दजसमें‍प्रश्‍न‍आकृदि दनदहि‍है?



Q.14 Find odd one out:/ बेमेि ज्ञाि करें :

A एक्सेि/Excel B माउस/mouse

C डेस्कटॉर्/desktop D की/key



Q.15 Which one set of letters when sequentially placed at the

gaps in the given letter series shall complete it?

अक्षरों का कौनसा समूह खािी स्थानों र्र क्रमिार रखने से िी गर्प अक्षर

शं्रखिा को रू्रा करेगा

a_b___aa_bc_

A abcabc B abccba

C abccbc D cdabcd



Q.16 Identify the diagram that best represents the relationship

among the classes given below:

Oil, Cooking oil, Olive oil, Kerosene

उस आकृदि को र्हचादनए, जो नीचे दिए गये िगों की बीच में संबंि को

सिपशे्रष्ठ िरीके से प्रिदशपि करिी है?

िेि, खाने र्काने का िेि, जैिून का िेि, केरोसीन



Q.17 Which of the answer figure is exactly the mirror image of 

the given figure, when the mirror is held on the line AB? 

उत्तर‍आकृदियों‍में‍से‍कौन‍सी‍आकृदि‍प्रश्न‍आकृदि‍का‍सही‍प्रदिदबम्ब‍होगा, 

जबदक‍िर्पण‍AB रेखा‍र्र‍रखा‍हो।



Q.18 How many such pairs of letters are there in the word

CORPORATE, each of which has as many letters in the same sequence

between the letters in the word as in the English alphabet?

शब्ि CORPORATE में अक्षरों के ऐसे दकिने युग्म हैं, दजसमें प्रत्येक के बीच में उिने

ही अक्षर हैं, दजिने दक अंगे्रजी िणपमािा में होिे हैं

A कोई भी नहीं/none B एक/one

C िो/two D िीन/three



Q.19 If 'x' means '+','+' mean '÷', '-' means '×' and '÷' means '-',

then 8 × 7 – 8 + 40 ÷ 2 = ?

यदि '×' का अथप '+' '+' का अथप '÷' '-' का अथप '×' िथा '÷' का अथप '-' हो,

िो 8 × 7 – 8 + 40 ÷ 2 – ?

A 1 B 8
𝟑

𝟓

C 44 D 7
𝟐

𝟓



Q.20 Which one number does not belong to the given series?

दनम्न में से कौनसी संख्या िी गई श्रृंखिा से सम्बंदिि नहीं है?

11, 2, 21, 3, 32, 4, 41, 5, 51, 6

A 21 B 11

C 32 D 51



Q.21 In a certain code language, "RAINBOW" is written as "1987645"

and "SNAP" is written as "3790". How is "PIANO" written in that code

language?

एक दनदिि कूट भार्ा में, "RAINBOW" को "1987645" के रूर् में और "SNAP"

को "3790" के रूर् में कूटबद्ध दकया जािा है। उसी कूट भार्ा में "PIANO" को कैसे

दिखा जािा है?

A. 08976 B. 08947

C. 08974 D. 08977



Q.22 Select the missing number from given responses.

दिए गए दिकल्र्ों में से िुप्त संख्या ज्ञाि कीदजए।

A 76 B 92

C 77 D 87



Q.23 Select the correct combination of mathematical sign to replace

‘*’ signs and to balance the given equation.

दिए गए समीकरण को सिुंदिि करने हेिु ‘*’ दचह्न के दिए दिकल्र्ों में दिए गए

गदणि के दचह्नों के समुच्चयों में सही समुच्चय का चुनाि कीदजए।

30 * 10 * 2 * 50 * 70 = 26 

A ×, ÷, –, + B ÷, ×, –, +

C ÷, ×, +, – D ×, ÷, +, –



Q.24 How many squares are there in the given figure?

िी‍गई‍आकृदि‍में‍दकिने‍िगप‍हैं?

(A) 6 

(B) 4 

(C) 3 

(D) 5



Q.25 How many rectangles are there in the given figure?

िी‍गई‍आकृदि‍में‍दकिने‍आयि‍हैं?

(A) 12 

(B) 9 

(C) 10 

(D) 11
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